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No. Not really. In fact, they have more energy and that helps them

What's most special is that the coaches sit with the students in their

other classes. They help them with their school work and also help them solve

personal problems. The students feel their coaches really care and want them

I'am proud to say that 90% of them complete their studies successfully.
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Answer questions 1-7 in English according to the interview. In questions

1,3 and 4, circle the number of the correct answer. In the other questions,

(8 points)
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WRITTEN PRESENTATION (30 points)

PART 1I
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Write a description according to the instructions below. Write 35-40 words.

Describe a special event you went to (such as a wedding, a sports event, a performance).
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